MTH 1W Quiz ( 3.1-3.4) NAME: Soludies

1. Determine the mean, median and mode of the following data.  Show your work. [3]
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2. Determine the minimum, maximum and quartiles for the data, then draw a Box and Whisker Plot. [4]
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3. Describe each of the following as a ﬁositiﬁe, negative, or no correlation. [5]
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4, Circle the correlation coefficient that most likely fits the data shown.
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5. The data in the table which shows the height of an ice sculpture as it melts in the sun.  [6]
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Time 0 2 3 4 6 7 ' 8 10 12
{min)
Height | 27.8 24.2 2.2 19.7 16.3 14 122 7.8 4
(cm)
a) The independent variable is [ 1m A
b) Draw a scatter plot of the data.
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e) Draw a line of best fit (removing any outliers).
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f) Predict the height after 5 min. A <
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